©)

Prices Given 2 U

Price of wheat 3.00(5 { bushel
Price of nitrogen 0.10(5/ b
Fixed Costs 50.00|5 [ acre
Other Variable Costs 60.00|5 / acre
Externality 0.00/5/1bN

Private bene

is negative if externality is a cost; is positive if externality is a benefit

fits (profits to farmer)

: Cost of Total : .
Nitrogen Wheat yield nitrogen Total fixed variable Total private Revermues Private
Produce wheat? e / acte (bushels / roolication costs costs costs s / acre) profits
b ) acre) PP (5 / acre) (3 / acre) (3 / acre)
(% / acre) (% / acre)
NO 0.00 0.00] ¢ - |8  sooos - |s  soools ~ s (50,00
Yes 0.00| 23.00( 5 - 5 50.00 | 5 60.00 | 5 110.00 | 5 69.00 | 5 (41.00)
Yes 10.00 25.00 $ 100|$ 5000|S 6100|$ 11100|$ 7500 |S  (36.00)
Yes 20.00) 30.50| & 200 | S 50005  6200|$ 112.00|$ 9150 |$  (20.50)
Yes 30.00| 40.00( S 3.00 | S 50.00 | S 63.00 | S 113.00 | § 120.00 | § 7.00
Yes 40.00 55.00] $ 400|% 50.00|% 6400|% 11400|% 16500 |% 5100
Yes 50,00 45.20| § 5.00 |5 50.00 | S 65.00 | 5 115.00 | 5 135.60 | 5 20.60
Yes 60.00 a5.15| & 6005 50005  66.00|S 11600 S 13545 % 19.45
Produce wheat? Nitrogen Wheat yield Average Average total Average Profits
variable costs costs Revenue
7o Y 5 e ) [ —
YES 0
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YES 40
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Prices Given 2 U

Price of wheat 3.00(5 / bushel
Price of nitrogen 5.00(5/ b
Fixed Costs 50.00|5 / acre
Other Variable Costs 60.00|5 / acre
Externality 0.00|5/1b N is negative if externality is a cost; is positive if externality is a benefit
Private benefits (profits to farmer)
) Wheat yield (::0“ of Total fixed Tn.}tal Total private Prvate
Nitrogen nitrogen variable Revenues
Produce wheat? (bushels / N costs costs profits
(Ibs / acre) application s/ costs $/ ($ / acre) s/
acre) (8 / acre) ( acre) (8 / acte) ( acre) ( acre)
NO 0.00 0.00| $ - |s s0m00)|s - |s 50003 - |8 (s0.00)
Yes 0.00 23.00| § - |3 sooo|¢ e0.00|$ 110.00|%  63.00 (% (4L00)
Yes 10.00 25000 % 5000 % 50.00 S 110.00 | ¢ 160.00 |$  75.00 | $  (85.00)
Yes 20.00 30,50/ § 100.00 |$  50.00 | S 160.00 | § 210.00 |$ 9150 | §  (118.50)
Yes 30.00 33.000 5 150.00 |$  50.00 | S 210,00 | $ 260.00 |  99.00 | § (16L.00)
Yes 40.00 350005 200,00 |$  50.00 S 26000 | § 310.00 |$ 105.00 | §  {205.00)
Yes 50.00 360005 250,00 | $  50.00 | S 310.00 | $ 360.00 |$ 108.00 | §  (252.00)
Yes 50.00 36200 § 300.00 | $  50.00 |$ 360.00 | $ 410.00 |$  108.60 | §  (30L.40)
Produce wheat? Nitrogen Wheat yield Average Average total Average Profits
variable costs costs Revenue
N = = L
YES 0
YES 10
YES 20
YES 30
YES 40
YES 50
YES 60
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Prices Given 2 U

| ridiculously high FC

Price of w| 3.00|5 [ bushel
Price of n 0.10
Fixed Cos| 50000.0p :
Other Var| 80.00(5 / acre
Externalit] 0.00/5/Ib M [is negative if externality is a cost; is positive if externality is a benefit
Private benefits (profits to farmer)
Cost of
. Wheat | | Total .
Produce Nltl:og}en yield r|1t|:;g4:::1:.l Ttotal fixed A variable Total p::vate Revenue Private profits
wheat? (bs (bushels apphcan costs ( costs cost = (% / acre)
acre) / acre) on / acre) (5 / acre) (3 / acre) |($ / acre)
(3 / acre)
NO 0.00 00005 - $  50,00000|5% - $ 50,00000 | 5 - 5 {50,000.00)
Yes 0.00 23.0005 - 5 50,000.00 [ 5 60.00 | 5 50,060.00 | 5 69.00 | 5 (49,991.00)
Yes 10.00 25.0005 1.00)|5 50,000.00 [ 5 61.00 | 5 50,061.00 | 5 75.00 | & {49,986.00)
Yes 20.00 3050/ $ 200 | % 50,000.00 | § 62.00 | $ 50,062.00 | $ 9150 | {49,970.50)
Yes 30.00 40.00[ 5 3.00 |5 50,000.00 | 5 63.00 | § 50,063.00 | $120.00 | 5 (49,943.00)
Yes 40.00 45.000 5 400 |5 50,000.00 | $ 64.00 | § 50,064.00 | $135.00 | S (49,925.00)
Yes 50.00 47.00| % 5.00|5 50,000.00 | 5 65.00 | S 50,065.00 | $141.00 | 5 {49,924.00)]
Yes 60.00 43000 5 6.00 |5 50,000.00 [ § 66.00 | 5 50,066.00 | $129.00 | 5 (49,937.00)
Produce wheat? Nitrogen Wheat yield Average Average total Average Profits
variable costs costs Revenue
NO | e e e
YES 0
YES 10
YES 20
YES 30
YES 40
YES 50
YES 60
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Prices Given 2 U

higherwheat price

Price of w| A4.00757 OUST
Price of n 0.50/5/ b
Fixed Cos 50.00|$/ acre
Other Var| 60.00|5 [ acre
Externalit| 0.00|5/1b N |is negative if externality is a cost; is positive if externality isa t
Private benefits (profits to farmer
Nitr Wheat (.:‘Iost of Total Total Total Re Privat
Produce | . = 0| yield | 2" | fixed |varable | private || o
(Ibs / applicati s profits
wheat? (bushels costs costs costs
acte) / acre) o (8 / acre)|($ / acre)(($ / acre) (8 / acte)|($ / acte)
(% / acre)
NO 0.00 00008 - [$s000(% - [$ssoo0|s - |¢(s0.00)
Yes o.00] 230008 - |$ s0.00|$ e0.00($110.00 (S 92.00 | $ (18.00)
Yes 10.00] 25.000 5 5.00 |5 50.00 | 5 65.00 | 5115.00 | $100.00 | 5 (15.00)
Yes 20.00 30.50| § 10.00 | $ 50.00 | § 70.00 | $120.00 | $122.00 | & 2.00
Yas 30.00 33.00| $ 15.00 | § 50.00 | § 75.00 | $125.00 | 5132.00 |5 7.00
Yes 40.00 35.00| S 20.00 | $ 50.00 | S 20.00 | $130.00 | 5140.00 | 5 10.00 4
Yes 50.00] 36.000 % 25.00 | $ 50.00 | $ 85.00 | $135.00 [ $144.00 | $ 9.00
Yes 60.00] 36.20/ ¢ 30.00 | ¢ s50.00 | ¢ 90.00 | $140.00 | $14480 | & a0
Produce wheat? Nitrogen Wheat yield Average Average total Average Profits
variable costs costs Revenue
N e e e
YES 0
YES 10
YES 20
YES 30
YES 40
YES 50
YES 60
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Prices Given 2 U

low wheat price

——

Price of w| 2.00[5 7 BUsh
Price of n 2.00T57 1T ]
Fixed Cos 50.00|5 / acre hugeN price
Other Var 60.00(5 / acre
Externalit] 0.00(S /b N |is negative if externality is a cost; is positive if externality is a be
Private benefits (profits to farmer
Nt Wheat ?'IDS‘ of Total Total Total Re Privat
Produce | o 27| yield |7 20| fived | varable | prvate | | o
(Ibs / applicati s profits
wheat? (bushels costs costs costs
218) | acre) | O |(8/ acre)|($ / acte)|(s / acre)| ¢/ 2| ¢/ acre)
(% / acre)
NO 0.00 000l - [$ss000)% - |ss000(% - |8 (s0.00)
Yes 0.00| 23.00| 5 - S 50.00 | $ 60.00 | $110.00 | S 46.00 | S (64.00)
Yes 10.00| 25.00| $ 20,00 | S 50.00 | S 80.00 | $130.00 | S 50.00 | S (80.00)
Yes 20.00 30.50| S 40.00 | $ 50.00 | $100.00 | $150.00 | S 61.00 | S (83.00)
Yes 30.00| 40.00| $ 60.00 | S 50.00 | $120.00 | $170.00 | S 80.00 | S (90.00)
Yes 40.00 45.00| S 80.00 | $ 50.00 | $140.00 | $190.00 | S 90.00 | S (100.00)
Yes 50.00 47.00| $100.00 | $ 50.00 | $160.00 | $210.00 | $ 94.00 | S (116.00)
Yes 60.00 43.00| $120.00 | $ 50.00 | $180.00 | $230.00 | S 86.00 | S (144.00)
Produce wheat? Nitrogen Wheat yield Average Average total Average Profits
variable costs costs Revenue
N S = e e
YES 0
YES 10
YES 20
YES 30
YES 40
YES 50
YES 60







